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Equilibrium Conditions
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Steady State

Conditional on 7T
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e Hat notation:

Log Linearization
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e Log linearize equation (1) about steady state:
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Phillips Curve

e Linearizing (1), (2) and (3), about steady state,
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e Substitute out for K; in (a) using (c) and then substitute out
for F; from (b) to obtain the equation on the next slide.



Phillips Curve

e Performing the substitutions described on the previous slide:
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Phillips Curve

o Collecting terms,

familiar Phillips curve
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e Don't actually get standard Phillips curve unless 7T = 1.
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— More generally, get standard Phillips curve as long as there are
no price distortions in steady state.

e Going for the Phillips curve in terms of the output gap.



Linearized Marginal Cost

e Real Marginal Cost:
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Phillips Curve in Terms of Output Gap

o Collecting terms,
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